
l;=g+ lzif{s k|ltj*f ;+Vof hDdf -5400900

1 j}&s eQf 324000 6 1944000

2 wf/f ljh'nL 20000 6 120000

3 sfof{no ;fdfg 300000 6 1800000

4 ljljw 300000 6 1800000

5 dd{t 100000 6 600000

6 OGwg

j*f g+ 1,2,3,6 yk 

10000  / jfsL 

90000. 6 620000

7 #/ ef*f

j*f g+ 6 sf] nfuL 

7800. j*f g g+ 3  

sf] nfuL 60000.   2 138000

8 cg'udg tyf d'Nof+sg 300000 6 1800000

9 ed|)f vr{ 50000 6 300000

10 k/fdz{ tyf cGo ;\]jf ;'Ns 100000 6 600000

11 ;+rf/ 50000 6 300000

12 e}k/L cfpg] 200000 6 1200000

13 k+l~hs/)f 75000 75000

14 cltly ;Tsf/ 50000 6 300000

15 kmlg{r/ 50000 6 300000

16

ljkb Joj:yfkg sf]if k'lhut 

jf^ 100000 6 600000

2019000 12497000

*'u]Zj/ ufpkflnsf 

cf=j 2075.2076 ;fnsf] j*f sfof{no jh]̂  ljlgof]hg


